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Question I:

Unity Primary School is having a musical. Mrs Teo is in charge of printing invitation cards
needed by each group for the musical.

140
120

The table below show the cost of printing
100 invitation cards at a printing shop

Number of 80
invitation 60 -

0 | = Printing Charges

20

e — First 200 cards $2.00 each
Choir Darice Club  Art Club Band

Group

The table below shows the cost of printing invitation cards at a printing shop. Next 100 cards $.1.50 each

Every additional $0.60 each
‘ cards

How much did Mrs Teo have to par for the total number of invitation cards printed for
all the four groups?
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Question 2:

The ratio of the number of adults to the number of children at a Lady Gaga concert
was 5 : 3. The price of one adult ticket was $450, while the price of a child ticket was $230.
However, 40 child tickets were sold at half price as part of a promotion.

If the total amount collected from ticket sales was $51,220,
how many adults attended the concert?
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Question 3:

Mr Gifty spent 1/6 of his money on 2 shirts and 3 jackets. Each
jacket costs twice as much as each shirt. He then spent 2/5 of his
remaining money on a wallet. He spent $23.80 more on the wallet
than on the 2 shirts. how much money did Mr Gifty have at first?
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Question \:

ABCD is a Square, and PQSD is a parallelogram. ESC and SDS are
Isosceles triangles. RS = RC and SC = SD. £SRC = 82°

A Q B

4a) Find £QSD

4b) Find ZAQP
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Question 5:

A cuboid measuring 20 cm by 12 cm by 10 cm is completely filled with small
identical cubes of edge 2 cm.

How many such cubes can fit into the cuboid?
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WANT TO
LEARN MORE?

If you found this worksheet helpful, your child may benefit from
guided Math lessons with our experienced tutors at
Elite STEM Academy.

We specialize in helping Primary 1 — 6 students build strong
Math foundations and excel in the PSLE exam, using proven
strategies aligned with the Singapore MOE syllabus.

= How We Teach Math for PSLE:

Step-by-Step Problem Solving
We guide students through the toughest Paper 2 problem sums
by teaching clear, logical approaches like the RUDE method and
other heuristics — so they can confidently break down complex
questions.

Exam Smart Techniques
Our lessons focus on understanding common question types,
interpreting word problems accurately, and structuring answers
to meet MOE marking criteria. We provide regular practice,
feedback, and correction to build exam confidence.

Customized to Your Child’s School Topics
Whether your child attends a local or international school, our
— tutors adapt lessons to fit the current curriculum and individual

/@ learning needs.
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